
Here are your answers for Wednesday 1st July.  

Maths: 

1/3 of 15 = 5 18 ÷ 3 = 6 9 ÷ 3 = 3 1/3 of 21 =7 
 
 
 

Main Activity  

 
 Both are correct because quarter to 5 means there is 15minutes to go until it reaches 5 o’clock.  

  

10 
15 minutes past 1 

(Quarter past 1) 

20 minutes past 1 

(Twenty past 1) 

20 

Quarter to 2 

Ten to 2 



Reading  

 

Surrounded- be all round (someone or something). 

I was surrounded by sharks.  

Mysterious-difficult or impossible to understand, explain, or identify. 

The mysterious watch teleported me back into the past.  

Dangerous-able or likely to cause harm or injury. 

The high cliff was very dangerous.  

Brightly-in a way that gives out or reflects much light. 

The sun shone brightly.  

Unnoticed-not noticed. 

The crack in the cliff went unnoticed.  

 

 
 

 
 

 



 

 
 



 

  
 

 



 



 
 

 

 

 

 

 

 



 

 
 
 


